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const int MAXN= , MAXM= , InT=0X7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge [ MAXM<<1];
int head[MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 000 OO
void Insert(int u,int v,int c
edge/edge cnt/=Edge(v,c,head/u]);
head|u!=edge cnt++;
edge|edge cnt|=Edge(u,0,head|v]);
head|[v|=edge cnt++;

struct EdmondsKrap
int a/MAXN|,p! MAXN];
int Maxflow(int s,int t
int flow=0;
true
mem(a,0);
gqueue<int>q;
als|=Inf;
g.push(s);
Iqg.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edgel|i].to;
lalv]&&edge/i].cap

plv]=i;
alvi=min(alul,edgelil.cap);
g.push(v);
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lalt

flow;
int i=t;i'!=s;i=edgelp[i]”1].to
edgelpli]].cap-=alt];
edge(pl[i]~1l].cap+=alt];

flow+=alt];

$\text{Dinic}$ OO

O000 $\text{bfs}$ 00 000000000000 $\text{dfs}$]

OO0 $\ext{bfs}$ 00 0000000O0OO0O%ISOOOOOODO $n-1$ 0000 $\text{dfs}$ OO
o000 $O0imm)$000Coog $0(n™2m)$0
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struct Dinic
int s,t;
int pos|[MAXN|,vis MAXN|,dis [MAXN|;
bool bfs(int k
queue<int>q;
g.push(s);
vis|s|=k,dis|[s|=0,pos/s|=head(s];
Iq.empty
int u=q.front();q.pop();
int i=head/u];~i;i=edge|i].next
int v=edgeli].to;
vis|v|!=k&&edge (i .cap
vis|v|=k,dis|[v/=dis|ul+1,pos|/vi/=head|Vv];
g.push(v);

false;

int dfs(int u,int max_ flow
==t| | !max_flow
max_flow;
int flow=0,temp flow;
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int &i=posiul;~i;i=edgeli].next
int v=edge([i].to;
dis|ul+l==dis|v]|&&(temp flow=dfs(v,min(max flow,edgel(i|.cap
edgeli].cap-=temp flow;
edge[i”1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
'max_flow

flow;
int Maxflow(int s,int t

this->s=s;this->t=t;
int ans=0,k=0;

mem(vis,0);
bfs (++k
ans+=dfs(s,Inf);
ans;

$\text{ISAP}$ 0 O

O0D0000 $\text{Dinic}y$ 00000000 $\text{bfs}$ 00 $\text{dis}sp0 OO OOODO

000000 $\text{Dinic}y$ 0O OOOOOO

struct ISAP
int s,t,n;
int pos|[MAXN|,dis MAXN|,p! MAXN|,num MAXN];
bool vis[MAXNI;
void bfs
mem(vis,0);
queue<int>q;
g.push(t);
vis|t|/=true,dis|t|=0;
lq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edgel[i].to;
lvis|v | &&edge[i™1].cap
vis|v|=true,dis|v]|=dis/ul+1;
g.push(v);

mem(num, ) ;
_rep(i,1,n
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pos|il=head|[i],num/dis|i]|++;

int augment
int flow=Inf;
int i=t;il!=s;i=edge([p[i]”~1].to0
flow=min(flow,edge/plil].cap);
int i=t;i!=s;i=edgelp[i]~1].to
edge/pli]|.cap-=flow;
edge/pli|”1l].cap+=flow;

flow;

int Maxflow(int s,int t,int n
this->s=s;this->t=t;this->n=n;

bfs();
int ans=0,u=s;
bool flag;
dis/sl<n
==t

ans+=augment(),u=s;
flag=false;
int &i=pos|ul;~i;i=edge!i].next
int v=edgeli].to;
dis/ul==dis|v | +1&&edge|i].cap
flag=true,plv/=1i,u=v;

’

Iflag
int d=n-1;
int i=head/u|;~1i;i=edge[1i].next
edge(i].cap
d=min(d,dis/edge/i]|.to]);

--num/dis|u] |==
’
num/dis|ul=d+1]|++;
pos/u/=head/u;
u'=s
u=edge/plul”l].to;

ans;
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const int MAXN= , MAXM= y Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge [ MAXM<<1];

int head MAXN|,edge cnt;

void Clear(){mem(head,-1);edge cnt=0;

void Insert(int u,int v,int c¢
edge|edge cnt|=Edge(v,c,head(u]l);
head|u|=edge cnt++;
edge/ edge cnt =Edge(u,c,head/v]);
head|v|=edge cnt++;

struct ISAP
int s,t,n;
int pos|/MAXN|,dis MAXN|,p ! MAXN|,num MAXN!;
bool vis[MAXN];
void bfs
mem(vis,0);
gqueue<int>q;
g.push(t);
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vis|t|=true,dis|[t|=0;
Iq.empty
int u=q.front();q.pop();

int i=head|u];~i;i=edgel|i].next

int v=edgeli].to;
lvis|v &&edge ! i™1].cap
vis|v|=true,dis/v/=dis/ul+1;
g.push(v);

mem(num, 0 ) ;
_rep(i,1,n
pos|[il=head|[i],num|/dis|i]|++;

int augment
int flow=Inf;
int i=t;il!=s;i=edge[p[i]~1].to
flow=min(flow,edgelpli!|.cap);
int i=t;i!=s;i=edge[p[i]~1].to
edge(pli]!.cap-=flow;
edgelp/i|~1].cap+=flow;

flow;

int Maxflow(int s,int t,int n
this->s=s;this->t=t;this->n=n;
bfs();
int ans=0,u=s;
bool flag;
dis[s]<n
==t
ans+=augment(),u=s;
flag=false;
int &i=poslu];~i;i=edge[i].next
int v=edgel[i].to;
dis|ul==dis|v]|+1&&edgei].cap
flag=true,p/vi=i,u=v;

’

I'flag
int d=n-1;
int i=head|u];~i;i=edge|i].next
edge/i].cap
d=min(d,dis/edge(i].to]);

--num/disfu] ==
’

num/dis|ul=d+1]++;
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pos|ul=head|u];
ul=s
u=edge/plul”l].to;

ans;

struct Gomory Hu Tree
ISAP solver;
int n,idx MAXN],temp[MAXN],color|[MAXN], k;
int Head[MAXN<<1],To[MAXN<<1],W[MAXN<<1], Next MAXN<<
int Min_cut[MAXN| MAXN];
void insert(int u,int v,int w
Next|[++tree edge|=Head|ul;
Toltree edge!=v;W|[tree edge|=w;
Head|u|=tree edge;

void dfs(int u
color|ul=k;
int i=head|u];~i;i=edge[i].next
edge/i].cap&&color|edgeli].to] =k
dfs(edgelil.to);

void build(int lef,int rig
lef>=rig

int i=0;i<edge cnt;i+=

,tree edge;

edge[i].cap=edge[i|1l].cap=edgeli].cap+edge[i|l].cap>>1;/0000

int cut=solver.Maxflow(idx|lef|,idx|[rig],n);

insert(idx|lef|,idx|[rig!,cut);insert(idx|[rig|,idx|lef],cut);

++k;dfs(idx | lef]);
int posl=lef-1,pos2=rig+1;
_rep(i,lef,rig
coloriidx[i] |==
temp|++posl|=idx[i];

temp|--pos2|=idx[i];

_rep(i,lef,rig
idx[i|=temp[i];
build(lef,posl);
build(pos2,rig);

void dfs2(int u,int fa,int p,int w
Min cutip!lul=w;
int i=Head|[u];i;i=Next[i
int v=To[i];
v==fa

’
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dfs2(v,u,p,min(w,W/[i o

void build(int n
this->n=n;
_rep(i,1,n
idx[il=1;
build(1,n);
_rep(i,1,n
dfs2(i,i,i,Inf);

GHT;
int main
Clear();
int n=read int(),m=read int();
m__
int u=read _int(),v=read int(),c=read int();
Insert(u,v,c);
GHT.build(n);
int g=read int();
q__
int u=read_int(),v=read int();
enter (GHT.Min cutfullv]);
0o

$\text{EdmondsKarp}$ O O

gbobooobboobobooobbooobobuooobooooboon

Oooooooo0 $0(nmf)$[

struct Edge
int to,cap,w,next;
Edge(int to=0,int cap=0,int w=0,int next=
this->to=to;
this->cap=cap;
this->w=w;
this->next=next;

edge MAXM<<1];
int head MAXN|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 00000
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void Insert(int u,int v,int w,int c
edge|edge cnt|=Edge(v,c,w,head/ul);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,-w,head|v]);
head|v|=edge cnt++;

struct EdmondsKrap
int alMAXN],dis[MAXN|,p/MAXN];
bool inque|[MAXN];
void MCMF(int s,int t,int &flow,LL &cost
flow=0,cost=0;

true
mem(a,0);mem(dis, /3);
queue<int> q;
als|=Inf,dis|[s|=0,inquels | =true;
g.push(s);
Iq.empty

int u=q.front();q.pop();
inque/u/=false;
int i=head/u|;~i;i=edge[1i].next
int v=edgel[i].to;

edge/i].cap&&dis/ul+edge/i] .w<dis|v

plvi=i;
dis|v/=dis|ul/+edge|i] .w;
alvi=min(alul,edgelil.cap);
linque|v
inquelv =true;
g.push(v);

lalt

int i=t;i'!=s;i=edgelp[i]”~1l].to
edge(pli]].cap-=alt];
edge(pl[i]~1l].cap+=alt];

flow+=alt];
cost+=1LL*a[t|*dis|[t];

$\text{Dinic}$ 0 O

0000 $\text{Dinic}$s 00000000 0DO0OD0O00O0ODOOO00ODDOO $\text{dfs}$ 00000

goddgoooooooooo

O000000 $\text{EdmondsKarp}$ O OO
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struct Dinic
int s,t;
int pos[MAXN|,dis [ MAXN];
bool inque|MAXN];
bool spfa
mem(dis, /3);
queue<int>q;
g.push(s);
inque|s | =true,dis|s|=0,pos|[s|/=head|s];
lq.empty
int u=q.front();q.pop();
inquelul=false;
int i=head|u];~i;i=edge[i].next
int v=edgel[i].to;
dis/ul+edge|i].w<dis|v &&edge/i].cap
dis|[v]|=dis|ul+edgeli].w,pos|v]|=head|[v];
linquelv
g.push(v);
inquelv =true;

dis|[t]!=dis ;

int dfs(int u,int max flow
u==t| | 'max_flow
max_flow;
int flow=0,temp flow;
inquelul=true;
int &i=pos|ul;~i;i=edgeli].next
int v=edgel|i].to;
linque /v &&dis/ul+edgei|.w==dis|v|&&(temp flow=dfs(v,min(max flow,edgeli
.cap
edge[il.cap-=temp flow;
edge[i”1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
'max_flow

.
1

inquelu/=false;
flow;

void MCMF(int s,int t,int &flow,LL &cost
this->s=s;this->t=t;
cost=flow=0;
int temp flow;
mem(inque,0);
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spfa
temp flow=dfs(s,Inf);
flow+=temp flow;
cost+=1LL*temp flow*dis|t];

ugd
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const int MAXN=55,MAXM= ,Inf=1e9;
struct Edge
int to,cap,w,next;
Edge(int to=0,int cap=0,int w=0,int next=
this->to=to;
this->cap=cap;
this->w=w;
this->next=next;

edge [ MAXM<<1];
int head MAXN|,edge cnt;
int Flow/MAXN]|,Cost/MAXN|,sum|[MAXN|,flow cnt;

void Clear(){mem(head,-1);edge cnt=0; }//00 0100 [

void Insert(int u,int v,int w,int c
edge|edge cnt|=Edge(v,c,w,head/ul);
head|u|=edge cnt++;
edge|edge cnt|=Edge(u,0,-w,head|v]);
head|v|=edge cnt++;

struct Dinic
int s,t;
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int pos|[MAXN|,dis MAXN];
bool inque!MAXN];
bool spfa
mem(dis, /3);
queue<int>q;
g.push(s);
inquels|=true,dis|s|=0,pos/s/=head|(s|;
Iq.empty
int u=q.front();q.pop();
inquelu =false;
int i=head|u];~i;i=edge!i].next
int v=edgel[i].to;
dis/u/+edge/i| .w<dis| v |&&edgel|i].cap
dis|v/=dis|ul+edgeli].w,pos|/vi/=head|[v];
linque|v
g.push(v);
inque|v =true;

dis|[t]!=dis :

int dfs(int u,int max_ flow
==t || 'max_flow
max_flow;
int flow=0,temp flow;
inque|ul=true;
int &i=posiul;~i;i=edgeli].next
int v=edge/i!.to;
linque /v |&&dis/ul+edge(i|.w==dis|v|&&(temp flow=dfs(v,min(max_ flow,edge
il.cap
edge|i].cap-=temp flow;
edge[i”1].cap+=temp flow;
flow+=temp flow;
max_flow-=temp flow;
Imax_flow

’

inquelu|=false;
flow;

void MCMF(int s,int t
this->s=s;this->t=t;
mem(inque,0);

spfa
Flow|++flow cnt|=dfs(s,Inf);
Cost[flow cnt|=dis|t];
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solver;
LL gcd(LL a,LL b
b
LL t=b;
b=a%b;
a=t;

a;
int main

int n,m;
~scanf ("%d%sd" ,&n, &m
Clear();flow cnt=0;
int u,v,w;
m--

u=read_int(),v=read int(),w=read int
Insert(u,v,w,

solver.MCMF(1,n);
_rep(i,1,flow cnt

sum/il=sum|[i-1]+Cost/i|*Flow|/i];
Flow[i]+=Flow/|i-

int g=read int
q--
u=read _int(),v=read int
v>1LL*u*Flow| flow cnt
puts("“NaN");

.
1

’

1

int lef=0,rig=flow cnt,mid,pos;
lef<=rig
mid=lef+rig>>1;
v<=1LL*u*Flow mid
pos=mid;
rig=mid-

?

lef=mid+1;

’

LL a=1LL*sum|pos-1]*u+(v-u*Flow| pos-
LL d=gcd(a,v);

printf("slld/slld\n",a/d,v/d);

*Cost|pos|;
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const int MAXN= ,MAXM=2e5+5, Inf=0x7fffffff;
struct Edge
int to,cap,next;
Edge(int to=0,int cap=0,int next=
this->to=to;
this->cap=cap;
this->next=next;

edge [ MAXM<<1];
int head MAXN]|,edge cnt;
void Clear(){mem(head,-1);edge cnt=0; }//0 00000
void Insert(int u,int v,int ¢
edge|edge cnt|=Edge(v,c,head(u]l);
head|u|=edge cnt++;
edge/ edge cnt =Edge(u,0,head/v]|);
head|v|=edge cnt++;

struct ISAP
int s,t,n;
int pos|/MAXN|,dis MAXN|,p ! MAXN|,num|[MAXN;
bool vis[MAXN];
void bfs
mem(vis,0);
queue<int>q;
g.push(t);
vis|t|=true,dis/t|=0;
Iq.empty
int u=q.front();q.pop();
int i=head|u];~i;i=edge[i].next
int v=edgel[i].to;
lvis|v &&edge ! i™1].cap
vis|v]=true,dis|[v]=dis|ul+1;
g.push(v);

meminum, ’
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_rep(i,1,n
pos|il=head[i],num|/dis|i]|++;

int augment
int flow=Inf;
int i=t;il!=s;i=edge|p[i]~1].to0
flow=min(flow,edgelpli!|.cap);
int i=t;il!=s;i=edge[p[i]~1].to
edge(pli]!.cap-=flow;
edge[pli|”1].cap+=flow;

flow;

int Maxflow(int s,int t,int n
this->s=s;this->t=t;this->n=n;
bfs();
int ans=0,u=s;
bool flag;
dis|sl<n
u==t
ans+=augment(),u=s;
flag=false;
int &i=pos|ul;~i;i=edgeli].next
int v=edgel[i].to;
dis|u|==dis|v]|+1&&edge i].cap
flag=true,plv/=1i,u=v;

’

I'flag
int d=n-1;
int i=head|ul;~1i;i=edge[1i].next
edgeli].cap
d=min(d,dis/edge(i].to]);

--num/dis|ul |==
’
num/dis|u/=d+1]|++;
pos|ul=head|u];
ul=s
u=edge/plul”l].to;

ans;

int id1[MAXN],id2[MAXN|,w MAXN];

void Insert2(int u,int v,int lef,int rig
edge|edge cnt|=Edge(v,rig-lef,head|u]l);
head|u!=edge cnt++;wlul-=lef;
edge|edge cnt|=Edge(u,0,head|v]);
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head| v/ =edge cnt++;w|v]/+=lef;

ISAP solver;
int main

int kase=0,n,m,s 0=1,s=2,t 0=3,t=4;
~scanf("%d%d",&n, &m
kase++)puts("");
Clear();mem(w,0);
int pos_id=4;

_rep(i,1,n
id1l[i|=++pos id;
_for(i,0,m

id2[i]=++pos id;
Insert2(id2/il,t,read int(),Inf);

_rep(i,1,n
int c=read int(),d=read int(),t,l,r;
Insert2(s,id1[i!,0,d);
_for(j,0,c
t=read int(),l=read int(),r=read int
Insert2(idl/i],id2[t],1,r);

Insert(t,s,Inf);
int sum=0;
_rep(i,1,pos id
wl il>
Insert(s 0,i,wl[i]);
sum+=w(il;

wiil<
Insert(i,t 0,-wlil);

solver.Maxflow(s 0,t 0,pos id)<sum
pUtS ||_1|| ;

enter(solver.Maxflow(s,t,pos id));

oo

goooooo

’
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struct KM
int match[MAXN],vis[MAXN];
bool dfs(int u,int k
visiul==
false;
visiul=k;
int i=head|u;1i;i=edge!i].next
int v=edge([i].to;
I'match(v!||dfs(match[v], k
match/v|=u,true;

false;

int get pair(int n
mem(match,0);mem(vis,0);
int ans=0;

_rep(i,1,n
ans+=dfs(i,i);
ans;

good

00000000 $\text{X}$0s\text{Y}$]

O0D0DO0O0O0D0DDO0O0O0OD $text{X}$ OO OOOOO S0 0000\ text{Y}$ OO O OOOODO
O0Os1s00000

000 $\text{X}$ 00 $\text{Y}$ 00O O0DD0O000D$1$00000000 $\text{Dinic}$ OO
0000000

00000 $0(\sqrt nm)$[]

ooo
gboobdobobobooboobooboobobboobooboubUobobobbobboobOooD

gobogoboboooboooobobooooboobad
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e 000000000 O0O0OO0OO $I(H$00 O $ulin \text{X},v\in \text{Y},l(u)+I(v)\ge w(u,v)$[
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000 $\text{Ix}()$ DO OO OO O$\text{ly}()$ 00D OO OO

OO0000 $\ext{Ix}(H$OODO $is 000000 0ONSMtext{ly}(i)$ O $os0 00 OO0
$\text{Ix}(u)+\text{ly}(v)\ge w(u,v)$

gobogoboooboobooon

000000 $u$0 0 sttext{dfs}$s 000000000000 DOOOO0OOOOOOODOOOOODO
googod

O00 $ext{dfs}$ 0000000000000 $S$00 00 OO0 $T$OD $\overline S=X-S\overline
T=Y-T$[]

0000000000000 0000000000000000000000 $a$0 $S$00000
000 $a$0$T$ 00000000 $as]]

0000000000 $S$ 0 $T$ O $\overline S$ O $\overlineT$ O DO OO DO

000000 $\overlineS$ O $T$ 00 $\text{Ix}(u)+\text{lyHv)$ OO OO OO OO0OO
$\text{Ix}(u)+\text{ly}(v)\ge w(u,v)$[

000000 $S$0 $overlineT$ OO0 ODDO0O0O $S$0000000DO0O0O0O0O0ODOOO0O

O000 $a$ 000000 $as 00000 $\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))|ulin S,v\in
\overline T\}$[]

000000 $ulin \text{X},Win \text{Y},l(u)+I(v)\ge w(u,v)$00 0000000000
0000 $alt\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))Julin S,W\in \overline N\}$00 DO OO OO OO
00000 $a=\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))|u\in S,v\in \overline T\}$[]

0000000000000 000D00O000DOO000ooDoOog $Ss000oopDooOoooOoO
O000 $0(n)$s00nonO

O0 $\text{dfs}$ 000000000000 $0(n™2)$000 00 $a$ 00000 $0(n"~2)$0
000000000000 $0(n"3)$J0 00000 $0(n™4)$0

Oo0Do0o00oo00oo0 $slack(v)=\{\min(\text{Ix}(u)+\text{ly}(v)-w(u,v))|u\in S\}$JO OO0 $a$ 00O O
0O0oooo $0(n)s$d

00 $\text{dfs}$ 000000000 $0(n™2)$000000O0ODOOO0ODO0O $0(n™3)$0

struct KM
int n,w/MAXN]| MAXN!, Ix|MAXN|, Ly [MAXN|,lack [MAXN ;//C1 [0 00010000000 Elwid [ -
Inf
int match/MAXN|,visx MAXN|,visy MAXN];
bool dfs(int u,int k
visx|ul=k;
_rep(v,1,n
visy|v|==

int t=Wx[ul+lylv]-wlullv];
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It
visy/v]=k;
'match(v|||dfs(matchlv],k
match[v]=u, true;

lack(v]=min(lack[v],t);
false;
int get pair(int n

this->n=n;int k=0;
mem(ly,0);mem(match,0);mem(visx,0);mem(visy,0);

_rep(i,1,n
Ix[1i]=-Inf;
frep jr N

Ix[il=max(lx[i],wiil[]j]);

_rep(i,1,n
_rep(j,1,n
lack|j|=Inf;
true
dfs(i,++k
int a=Inf;
_rep(j,1,n
visy[jl!=k
a=min(a,lack(j!);
_rep jr N
visx|jl==
x[jl-=a;
visy|jl==
lyljl+=a;
lack!j|-=a;
int ans=0;
_rep(i,1,n
ans+=w/match[i il;
ans;

$\text{bfs}$ O O
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000000000000 $text{dfs}s 0000000000

O00000000 $\text{dfs}$ 00 $\text{bfs}$0 000 O00ODOO0O $0(n™3)$0

struct KM
int n,w/MAXN]| MAXN|, Ix/MAXN|, ly[MAXN],lack MAXN|,p!MAXN] ;//C1 [0 1010010

OwOOd -Inf
int linkx[MAXN!,linky MAXN|,visx MAXN|,visy[MAXN];
void augment(int pos
int temp;
pos
temp=linkx | p[pos]||;
linkx[p[pos! |=pos;
linky|[pos|=p/pos/;
pos=temp;

void bfs(int s,int k

gueue<int>q;
_rep(i,1l,n
lack[i]=Inf;
g.push(s);
true
Iq.empty
int u=q.front();q.pop();
visxlul=k;
_rep(v,1,n
visy|v|==
Ix[ul+lylv]-wiulvi<lack|v
lack[vi=lx{ul+ly[v]-wiul[v];plv]=u;
Ilack|v
visy/v]=k;
linky|v
augment(v);
g.push(linky(v]);
int a=Inf;
_rep(i,1,n visy|il!=k
a=min(a,lack[i]);
_rep(i,1,n

visx|[il==k)lx[1i]-=a;
visy[il==k)ly[i|+=a;
lack[i]-=a;

_rep(i,1,n
visy[i]!=k&&!lack|i
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visy|il=k;
Ninky 1
augment (i) ;

g.push(linky[i]);

int get pair(int n
this->n=n;int k=0;
mem(ly,0);mem(linkx,0);mem(linky,0);mem(visx,0);mem(visy,0);
_rep(i,1,n
Ix[il=-Inf;
_rep(j,1,n
Ix[il=max(lx[i],wiil[]j]);
_rep(i,1,n
bfs(i,i);
int ans=0;
_rep(i,1,n
ans+=w|linky i/ ][1i];
ans;

guoooooon

oo UL U
$s0000000 $text{kKM}$ OO D OO

guooooobbbbn

dddddodoododddooooooododoooooooooooooooooooon
O $\infs 0000000 $\text{KM}$ DO O DODO

0000000000000 $\inf$0 O $n\times\inf$ OO OO
goooooo
goodgd

0000000000000 0 $text{KM}$ OO OOODOOOOODOOOODOODOOOODOOOO
gobodaoo

000000 $2k+1$ 000000 $k$ 0000000000 DOOO00ODOOOO0ODOOOO0OOOD
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00000 $0(n”™2log n+nm)$

struct KM
int n,link[MAXN|,pre MAXN|,color[MAXN;
int falMAXN|,cyc id[MAXN|,cyc cnt;
gqueue<int> q;

int Find(int x x==fa[x]?x:fal[x]=Find(fal[x]);}/O 00O
int LCA(int x,int y){/00x,y0000
++Cyc_cnt;

x=Find(x),y=Find(y);
cyc id[x|!=cyc cnt
cyc id[x]=cyc cnt;/000000
x=Find (pre[link|x /00x000000
y)swap(x,y);/00y000000,0000Yy

X;

void shrink(int x,int y,int p){/00000p0 000

Find(x)!'=p
pre[x]=y,y=link[x];/00000000000pre0 0000000
color|y|==
q.push(y);/00000000000DOO0OOOOOO
color(yl=1;

Find(x)==x)fa[x]=p;/0000
Find(y)==y)falyl=p;
x=prelyl;

void update(int x){/0000CO0000O0O
int temp;
X
temp=link|prelx]];
link[x|=pre[x],link|[pre(x]|=x;
x=temp;

bool augment(int s){/00 00

_rep(i,l,n)color|il=prelil=0,falil=1;
color[s!=1;

'q.empty g.popt);
g.push(s);

Iq.empty

int u=q.front();q.pop();
int i=head|u];i;i=edge/i].next
int v=edgel[i].to;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

;8%}8;/26 2020'202”%”‘3'Egaz'—sm”g:jxmzom: https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E5%9B%BE%ES%AE%BA_2&rev=1595739202

12:53

color|vi== /0000
Find(u)==Find(v))/0 0000000000

int p=LCA(u,v);
shrink(u,v,p);shrink(v,u,p);/00000000000O00O0OO0

l'color|v
prel[v]=u,color|v|=2;
Ilink|[v /000000
update(v);
true;

color[link|v]|=1;
g.push(link(v]);

false;

int get pair(int n

this->n=n;

int ans=0;

mem(link,0);
int i=1;i<edge cnt;i+=2){/00000
int u=edgeli].to,v=edge[i+1].to0;

link[ul&&! link [ v

link[ul=v,link[v]=u,ans++;

_rep(i,1,n
I'link|1i]|&&augment (i
ans++;

ans;

HEN
oooooo@oo)lo

od

O0 $n$000$m$ 0000000000 DO0O0O0O0O0ODO0O0O0D0OO $d_i(1\led_iNle 2)$0
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000000 %s0000000 4,i'sf0 0000000000 $e 1,e 2%
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gobogobooooobooooog

const int MAXN= , MAXM= .

struct Edge
int to,next;

edge [ MAXM<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|.next=head|u];
edge/edge cnt].to=v;
head|u|=edge cnt;

struct KM
int n,link [ MAXN|,pre[MAXN],color|[MAXN];
int falMAXN|,cyc id/MAXN|,cyc cnt;
gueue<int> q;
int Find(int x x==fal[x|?x:falx|=Find(falx]);
int LCA(int x,int y
++Ccyc_cnt;
x=Find(x),y=Find(y);
cyc id[x|'!'=cyc cnt
cyc id[x|=cyc cnt;
x=Find(pre[link|x ;
y)swap(Xx,y);

X5

void shrink(int x,int y,int p
Find(x)!=p
pre/x!=y,y=link[x];
coloriyl==
q.push(y);
color|y!=1;

Find(x)==x)falx|=p;
Find(y)==y)falyl=p;
x=prely!;

void update(int x
int temp;
X
temp=link|prelx]|;
link|[x|=pre(x|,link[pre(x] =x;
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x=temp;

bool augment(int s
~rep(i,l,n)color|(il=prel[il=0,falil=1i;
color(s|=1;

'q.empty())q.pop();

g.push(s);
Iq.empty
int u=q.front();q.pop();
int i=head|u;i;i=edge!i].next
int v=edgel[i].to;
color|vi ==
Find(u)==Find(v

int p=LCA(u,v);
shrink(u,v,p);shrink(v,u,p);

lcolor|v
prelv|=u,coloriv|=2;
Ilink|v
update(v);
true;

color|[link|v]]=1;
g.push(link(v]);

false;

int get pair(int n

this->n=n;

int ans=0;

mem(link,0);
int i=1;i<edge cnt;i+=
int u=edgeli|.to,v=edge/i+1].to;

Ilink[ul&&! link|[v

link[ul=v,link[v]=u,ans++;

_rep(i,1,n
'ink|i]&&augment (i
ans++;

ans;

solver;
int deg|[MAXN];
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void Add edge(int u,int v
Insert(u,v);Insert(v,u);

int main

int n,m;
~scanf ("%d%d",&n, &m
mem(head, 0) ;edge cnt=0;
int sum=0,node cnt=2*m;
_rep(i,1,n
deg/i/=read int();
node cnt+=degli];

int u,v;
int edge id=2*n;
m--
u=read int(),v=read int();
Add edge(u,++edge id);
deglul>
Add edge(u+n,edge id);
Add edge(edge id,edge id+1);
Add edge(++edge id,v);
deglv|>
Add edge(edge id,v+n);

solver.get pair(edge id)*2<node cnt
puts("No");

puts("Yes");
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